Bim SEFNEENV —R—IAKLTEHHMX T B
20224¢ 6/ 11H

(&Z¥F T&IZ) RO EAFY
Tl R AR E A-Ba—} IR N =¥ D-Ea—Fh
AY—4 cly—4o
[ 1] [ 2 ] [ 9 | [ 10 ]
Believe Al MINOKAYA JV+-MIHO b1 =457

HE EiL

[ 6]

L




A)—4

Believe - MINOKAYA EF- - L
Al 21 - 12 A2 15 — 21
2 21 — 5 0 1 21 — 18 2
- 11 - 15
£ TEIL B Believe
Believe — HE MINOKAYA | - L
A3 21 - 12 A4 10 — 21
2 21 — 17 0 0 11 — 21 2
¥ MINOKAYA ] HE
Believe - L MINOKAYA | - HE
AS 21 — 19 AG 4 — 21
2 21 — 20 0 0 9 = 21 2
= MINOKAYA- & & E=ET] Believe - &L
e RE E BE
0% = TR - 2K
B1 21 — 19 B2 15 = 21 i
2 21 = 11 0 1 21 = 14 2
— 13 = 15
=¥ 18> =3 il 3
il 3 - 184l TR - =K
B3 21 — 18 B4 13 = 21 i
2 21 = 15 0 0 13 — 21 2
=¥ TRt =¥ [ERT
il 3 - FK TR - B4
BS 15 - 21 5 B6 21 - 16
0 18 — 21 2 1 15 — 21 2
- 9 - 15
=¥ - B0 =¥ % - fak
=g L = BE
JV-MIHO - 7 = - =
D1 10 — 21 D2 9 — 21
0 17 = 21 2 0 17 = 21 2
=5 EE =H JV-MIHO
JV-MIHO - Hm ERk - EE
D3 11 — 21 D4 11 — 21
2 9 = 21 1 0 3 = 21 2
=¥ ERk =4 B
JV-MIHO - BE ERk = BE
D5 12 — 21 D6 12 — 21
0 10 = 21 2 0 10 = 21 2
=5 E K =H JV-MIHO- 1A=
S T 7 ER i
oy - & & - =
E1 16 - 21 E2 . 3 = 21
0 8 — 21 2 0 20 — 22 2
3| = ) S
Faah = EER & = BT
E3 4 = 21EI E4 7 = 21
0 0 — 21 2 0 11 — 21 2
3| & ) [
Faah - EES & = fBE R
ES 0 = 21 E6 17 = 21Ba
0 6 — 21 2 0 16 — 21 2
3| FE-RER ) RS




Bi2E 2HFR/NEENV—F -V KL BEHRHBREXTR
> 20224 6H 12H
(3F IRBIRER ) ] imaen
el = R B (C+D)
Believe T 2 BE
21 - 10
C1 21 - 3
. RIEp
23 - 25
3 16 - 21
0 7 - 21 EE
C2 11 - 21
- 07
hnis
15 - 21 22 - 20
8 - 21 G 21 - 17
_ 21 = 10| 2 -
R r—r — =i
21 - 10| B
I3 2
1 - 21 0
13 - 21 B
—12
MINOKAYA 0 JV-MIHO
12 - 21
6 - 21 B
EE S
3{i REE
e BES BABIE
12 - 21
21 - 17
13 - 15
A3 E 5{i REHK C3f#E
RER 1 il
1 - 21
21 - 191 C CI5
B3 & 13 - 13, - 21 2
Em | 21 - 19
10 - 15
TR, T 26 | 36 T M T Ofy T B
miE | #K | &5 | B | B | BFE




